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THREE FACTORS IN BUSINESS VALUATION: RISK, OWNERSHIP STRUCTURE AND CONTROL, AND USING GAAP DATA

by Lawrence Schall

I.  VALUATION OF HIGH-RISK ENTERPRISES

A “high-risk enterprise” is one with extremely uncertain future cash flows; many also have chronically negative cash flow.  In the latter 1990s and into early Spring of 2000, many such companies were grossly overvalued using traditional valuation metrics.  Those who argued that a temporary bubble was the explanation were ridiculed as being behind the times.  Their vindication was fast in coming.  Starting in March 2000, the NASDAQ suffered the largest percentage drop in value for any major index since the market collapse from 1929 to 1932.  The dot.coms and other Internet related businesses fell in value even more precipitously than did the NASDAQ as a whole.  Many had value declines exceeding 99 percent, even among the survivors.  There is a lesson in all this.

Valuing A New High-Risk Enterprise: Forecasting and valuing the future cash flows of a business requires assumptions about future costs and revenues.  Three errors were particularly common during the bubble of the late 1990s.  These errors imply the following cautionary advice.  

1.
Do Not Forget Key Costs:  Customer acquisition costs through product discounts or promotional expenditures must be objectively incorporated in the cash flow forecast.  Many dot.coms required only limited capital outlays to initiate but huge price discounts or other promotional costs to generate sales (at a loss).  Because of the job insecurity in a high-risk environment, many companies made huge option grants to employees in order to retain their services; options are a real cost to the firm.  

2.
Do Not Overestimate Customer Response:  Telecom companies  (e.g., Nextel Communications and XO Communications), some firms in the Internet space (e.g., Internap and Infospace), and even some pure B-to-C dot.coms (e.g., Amazon) incurred large capital outlays only to discover that the customer response was insufficient to generate a satisfactory return on capital.  Some of these companies also had the burden of price discounts and promotional expenditures (e.g., Amazon and Webvan).  The expectation that the Internet would bring an immediate revolution was based as much on hope as on careful market analysis.

3.
Do Not Pretend that Some Businesses are Exempt from Basic Economic Laws:  Investors demand real returns on their investments, lenders expect to be paid, and employees demand their compensation.  The fundamental rule that profits are required to generate value apply everywhere.

Risk Is Not A Given:  Particularly in the valuation of a high risk enterprise, the possibility of cost-effective risk control mechanisms and strategies should be introduced into the potential scenarios and associated cash flows being considered.  The discount rate (cost of capital) used to compute the value of the firm should reflect the risk implications of the risk-management techniques that are anticipated.  

Different potential scenarios that might unfold for the company may involve different company risk-control techniques.  For example, in some product lines the company may be able to build on existing relationships between the firm’s principles and outsiders, whereas in other product lines similar alliances might not be available.   Below are ways that a company can manage its risk exposure.   

· Financing Strategies:  Financing strategies to reduce risk include the following. 

·   Financial Structure Changes: Reduce financial leverage (use less debt, and other fixed contractual obligations relative to equity).  Rather than purchase assets, lease them with the option to cancel or to sublease. 

·   Use of Insurance and other Risk Management Tools: Many risk exposures can be reduced through insurance.   Many risks (e.g., input costs, exchange rate fluctuations, and interest rate fluctuations) can be hedged away.

· Operating Strategies: Operating strategies to reduce risk include the following.

·   Lower Operating Leverage: Reducing fixed costs relative to variable costs reduces operating leverage risk.  

·   Strategic Alliances: Contractual arrangements with other companies can reduce risk.  Examples are long-term sale or purchase agreements; product and service guarantees (e.g., on capital equipment); joint marketing or production agreements that reduce one another’s risks (e.g., contracting out the high fixed cost stages of production); outsourcing production tasks to other firms. 

· Limiting Competition Strategies for reducing competition and thereby decreasing the risk of failure include the following.

· Acquire exclusive control over key intellectual property (copyright or patent); 

· Obtain government protection against competition (e.g., an operating license); 

· Secure a monopoly or oligopoly market position by internal growth or acquisition (this can produce negative legal consequences).   

· Be a first mover into a market

· Arrange alliances with other companies to reduce competition 

· Acquire competitors.

· Information: More information about key cash flow drivers will usually change our current uncertainty about the future.  More information may decrease or increase perceived uncertainty; it depends on what we learn.  It is also essential to be able to separate bad information from good information (doing this may require getting more information about the information and its source; of course, at some point further research is paralyzing and too costly).  

Later in the course we will examine scenario analysis and decision tree analysis, tools that can be very helpful when analyzing high-risk situations.  

II. IMPACT OF OWNERSHIP STRUCTURE AND CONTROL ON VALUE

A privately held corporation (also referred to as a closed corporation) is one with stock that is not publicly traded, whereas a publicly held corporation (or public corporation) is one with stock that is publicly traded.  Most US businesses are privately held, although most business activity is done by public firms.  The exhibit below lists several value-relevant factors that distinguish public and privately held companies.  We will find that for most mid-sized and large firms, the advantages of public status outweigh the disadvantages.

Exhibit 1. Value Relevant Factors of Public and Private Companies

	Company Characteristic
	Publicly Held
	Privately Held

	Taxes**
	       Double taxation
	        Single taxation

	Liquidity (marketability)*
	       High
	        Low

	Access to capital*
	       High
	        Low to moderate

	Reputation*
	       Broad
	        Limited

	Incentive structure
	       Flexible
	        Constrained

	Government regulation**
	       High
	        Low to High

	Control
	       Disperse
	        Concentrated


In the table above, no asterisk means that, for that company characteristic, there is no significant advantage on average in being publicly held or privately held. One asterisk is shown if the advantage generally accrues to the public company; two asterisks are shown if the advantage generally accrues to the privately held company.

Taxes: Privately held companies can have any form of business organization.  This allows the company to tailor the business form to the tax position of the owners.  The income of a C-corporation is taxed at both the corporate level and again at the personal level, whereas the income of the other types of entity is taxed only at the personal level.  There is therefore usually (not always) a tax disadvantage in being a C-Corporation.  This disadvantage is particularly great for large businesses (due to tax brackets).  Publicly held companies are virtually always C-corporations.  In these cases, public status provides advantages that outweigh tax considerations.

Liquidity:  The stock in a public company is far more liquid (is easier to trade) than is the stock in a privately held company.  Therefore, when valuing a privately held company, a “liquidity discount” usually applies.  Studies indicate that, on average, the discount for being privately held rather than public can be expected to be around 25% to 40% (that is, a stock worth $10 per share if it can be publicly traded would be worth $6 to $7.50 per share if the stock could not be publicly traded).  This discount largely reflects the liquidity disadvantage of private relative to public status.

Access to Capital: Public companies have better capital market access than do privately held firms.  This impacts value.  The ability to pursue profitable opportunities is constrained by funding capability.  

Reputation:  Relative to privately held firms, it is easier for public companies to develop market position, that is, strong and positive brand and company recognition. This is so because information about public companies is more readily available; financial analysts, business publications, and other information seekers focus almost entirely on public companies.  Also, there is greater investor interest due to the wider equity ownership and greater equity liquidity for public firm.  The public company’s reputation advantage applies to relationships with suppliers, partners, customers, employees, and other stakeholders.  

Incentive Structure: A public company can easily institute sophisticated employee stock option incentives. This is not so for a privately held company.  On the other hand, the top managers of a privately held company have, on average, more of their personal wealth invested in the business.  This engenders greater dedication to the company; it can be a negative if it induces top management to guide the company away from high-risk, high-NPV projects because of personal risk aversion portfolio considerations.  The net of all this is that whether there is an incentive advantage to being privately held or public depends on the particular circumstances.

Government Regulation: Public disclosure laws (SEC), Sarbannes-Oxley (which largely applies only to public companies), and government surveillance (Justice Department, etc.) pose significant challenges for public companies, challenges that can be largely avoided by private status.  It is not simply because public companies are bigger.  It is because being public carries with it added disclosure requirements, greater vulnerability to lawsuits (e.g., by stockholders), and all the negatives (as well as positives) of being in the limelight.  

Control: Company control (and ownership) is typically much more concentrated in privately held companies.  This can be good or bad, depending on the players.  It is good to the extent that the centralized control leads to less bureaurocracy in decision-making.  But this can also mean weaker safeguards against bad management.  With privately held firms, the outside observers of the company’s performance are fewer, and internal human obstacles (other company managers and the board of directors) are less likely to interfere even when it is justified.  On average it is not clear whether the control issue favors the public or privately held businesses.

What is control of a company worth? How much less would you pay per share if you were buying only a non-controlling minority interest rather than a controlling interest? To explore this question, suppose that Crown Company has 1 million shares outstanding, and that all of the shares could be sold to a single highest bidder in the market for $50 per share (a total of $50 million).  This buyer would of course obtain control of the company.  Compare this with the sale of only 10,000 Crown Company shares (one percent of the equity).  Would investors be willing to pay $50 per share ($500,000 for the one percent interest)?  Probably not, the reason being that the buyer(s) of the 10,000 shares would obtain only a small minority position with little power to influence company policy.  How much is control worth?  Studies indicate that minority discounts can vary from close to zero to as much as much as 60 percent or even more.  So, in our example we would have the following.

	Transaction
	Price paid per share

	If single buyer purchases all 1 million shares
	$50

	If 10,000 shares sold with zero minority discount
	$50

	If 10,000 shares sold with 60 percent minority discount
	$20


Why is the range for the minority discount so wide (0% to 60%)?   The reason is that control typically has value only if the control can be used to produce wealth enhancement for the owner of the control.  If a company is already functioning at peak efficiency and there are no potential ways to increase its value (e.g., by changing its operations or by merging it with another firm), gaining control produces no pecuniary ownership benefits.  In this case, securing control of the company has no value.  (There are two, usually minor, exceptions to this, the first not wholly attractive, and the second reprehensible and perhaps illegal.  The first exception is a willingness to pay a premium for control simply because of the pleasure of control.  The other exception is gaining control through less than 100% ownership of the firm’s stock and then, against the interests of the minority shareholders, extracting resources from the company for the controlling interest’s benefit, e.g., through corporate percs.) 

To illustrate, suppose that Pillar Corporation is a peak-efficiency operation, and that its 1 million shares are selling at $60 each.  A minority interest of 10,000 shares could be bought (or sold) for $600,000.  Would anyone (excluding the two exceptions noted in the previous paragraph) pay more than $60 per share for all 1 million Pillar shares in order to gain control of Pillar?   Clearly not, because Pillar is already being optimally managed and is at its maximum value ($60 million).  Gaining control would not provide a means to raise share value above $60.  Now change the story and assume that Pillar is poorly managed and that its $60 share price reflects that fact.  Also suppose that a well-managed Pillar would be worth $85 per share (firm equity value = $85 million).   Under these circumstances, control would be worth $25 million (minus the cost of implementing the optimal policies).  This $25 million is the difference between what the firm’s equity would be worth if optimally operated, $85 million, and its current value, $60 million.  Control would enable the $85 million value since anyone with control could install new management that would implement the superior policies inducing the $85 million market value.  So we see that the value of control depends critically on circumstances.  

VALUATION IMPLICATIONS OF PUBLIC STATUS

Firms go public when the advantages of doing so outweigh the disadvantages.  This generally occurs when the company becomes relatively large.  At this point, the company undertakes an IPO.  This coming out party has historically resulted in a jump in the firm’s equity market value.  

III. USING GAAP QUANTITIES FOR VALUATION ANALYSIS 

The three primary financial statements prepared in accordance with Generally Accepted Accounting Principles (GAAP) are the balance sheet, income statement, and statement of cash flows. The financial manager be conversant with all three.  Although there are good reasons for the GAAP financial statement guidelines, below we note that certain characteristics of the balance sheet and income statement render those statements of limited used in valuation. We recommend ways to address the problems.  In contrast to the balance sheet and income statement, the GAAP statement of cash flows is, for our purposes, extremely useful and essentially problem-free.  

Balance Sheet Problems

PROBLEMS WITH THE PRESENTATION OF ASSETS

Assets on the balance sheet are usually shown at the lower of cost or market.  [For depreciable assets, cost is initial price paid less accumulated depreciation.]

· This is a problem if market value exceeds cost, since market value reflects purchasing power.  

· There are exceptions to the lower of cost or market rule.  Accounts receivable are shown on the balance sheet as the amount owed to the company by customers less an allowance for bad debts; this is typically a good estimate of the receivables’ market values (sale value of the accounts receivable).  Marketable securities are usually shown on the balance sheet at market value.  

Some assets are not on the balance sheet.  Examples are:

· Most intellectual property (patents and copyrights) developed by the company.  Software development costs (but not research costs) may be capitalized and shown as an asset.

·  Contingent claims against other parties (e.g., from a legal action).

·  Value of future investment opportunities.  

PROBLEMS WITH THE PRESENTATION OF LIABILITIES

Liabilities are stated at the amount borrowed, not the amount required to retire the debt.  There can be a difference between the two if market interest rates have changed since the funds were borrowed.  The amount required to retire the debt (the present value of the future debt payments) is the economic burden created by the debt that is reflected in the company’s stock price. [See the illustration below.]

Some liabilities are not on the balance sheet.  Examples include portions of the present value of future health care or severance benefits of employees, contingent claims against the company (e.g., resulting from a legal action), and portions of the present value of future pension costs.

Solution TO BALANCE SHEET PROBLEMS: Use market based estimates for the value of assets and liabilities.

Illustration of Debt Book Value Not Equal to Debt Market Value On December 31, 20x0, the market interest rate is 10 percent and ABC Corporation borrows $100 million by issuing 25-year 10 percent bonds at par (annual interest payment of $10 million).  On December 31, 20x3, the interest rate in the marketplace has risen to 14 percent.  The December 31, 20x3 balance sheet prepared in accordance with Generally Accepted Accounting Principles shows a debt of $100 million.  However, the bonds have a market value of $74 million.  This means that ABC Corporation could buy the bonds in the market for $74 million and thereby retire the debt (or ABC could buy $74 million of comparable bonds of another corporation and use the receipts from those bonds to service the ABC bonds).  On December 31, 20x3, the financial  burden imposed on ABC by the ABC bonds is $74 million, not the $100 million shown on the balance sheet.  The market value of the firm's equity reflects the $74 million burden, not the $100 million amount on the balance sheet (since market value of equity = market value of entire firm minus market value of debt).  

Income Statement Problems 

Although accounting income contains useful information about company performance (i.e., contains some information about cash flows), the accounting income figure itself is not an accurate measure of performance.  The major problems:

· Accounting income is typically computed using accrual rather than cash flow quantities, and the two typically differ.

· Accounting income does not reflect the real cost of borrowing funds if there is inflation, since part of nominal interest is really a return of principal to the lender.

· Accounting depreciation does not, as it should, measure the cost of replacing depreciable assets that have been used up; rather, it is an amortization of old costs.  Furthermore, there is significant discretion regarding the accounting depreciation method (e.g., straight line, declining balance, etc.), the estimated useful life of an asset, and the estimated salvage value of the asset.  

· Accounting cost of goods sold does not, as it should, measure the cost of replacing inventories used up during the period; rather, it is a reflection of old costs incurred in purchasing the inventories that were used up.

It should be emphasized that, although accounting income does not equal equity cash flow, it does have significant information content.  

· There is a significant positive correlation between accounting income and the economic profitability of the company computed on a cash flow basis.  Companies with robust accounting income are, on average, also prosperous from a cash flow perspective.  And companies with poor accounting income records are also generally unsuccessful from the viewpoint of cash flow.  So, accounting income is a good, albeit rough, measure of performance.  

· Accounting income provides a peek into the future because, under accrual accounting, cash inflows and outflows are booked when they accrue, which is often before the cash is received or paid.  The message that we will deliver here is that cash flow measures and cash flow valuation procedures clearly dominate those using accounting income, but nevertheless accounting income is very informative if the cash flow data are not available.

Solution TO INCOME STATEMENT PROBLEMS: Use cash flow and cash flow present values to compute economic income and to measure performance.  Use cash flow for budgeting and control.  
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